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RIER b AR X EGEH

BX3—2 BEMIIERTIEEENDIEEICEATLHEEA1/1) REEE | FRE2H4EE
[ REFbOuE | Bmeas 75761098 [ EEa | TiH-5 T R
SMERIHhD Tin(ZhBEEd 51 ih SMERIHR
ﬁg TREOBEBOSILEHOKRES TERFDOHBEEILNOKRES TEFEOBEBOEILHOKRES TREOHBESSLADKES
5 X 4 B | Timh o DR jmxa;é R 4 TIwmMLDKE | F& jjo)xajé R 4 B | LmAhSDLEE jjo)xajé K 4 HiEhooks | & jmjtdgé
(m) (m) (kN/ i) EEBfE(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/m%EBZ5| 1.00 000 ~ 218| 13383 |3mEEZD -~ - - -] 100kN/ %825 | 1.00 | 10.57 ~ 19.61 133.83 |3mZz#EZ D -~ -
s 1.00 | 218 ~ 996 100.00 | st | 0oo ~ 996 | 2.33 11.77 st 1.00 | 6.00 ~ 1057 100.00 | =hst | 6.00 ~ 1961] 2.33 11.77
2 100kN/m%#8%% | 1.00 | 000 ~ 296 147.06 |3m%E{BZ% -~ - - -] 100kN/ %8825 | 1.00 | 10.78 ~ 2498 14706 |3m%E#BzZ% -~
s 1.00 | 296 ~ 1075 100.00 | =4t | 0oo ~ 1075| 2.85 14.41 st 1.00 | .00 ~ 10.78 100.00 | =nLst | 6.00 ~ 2498| 2.85 14.41
3 100kN/mi%E#2% | 1.00|0.00 ~ 329 152.76 |3m%E#Bx 5| 000 ~ 022|512 15.78 | 100kN/miZ#825 | 1.00 | 1058 ~ 29.38| 152.76 |3m&ERBZB| 25,00 ~ 29.38| 3.12 15.78
s 1.00 | 329 ~ 1108 100.00 | NSt | 0.22 ~ 1108| 3.00 16.16 st 1.00 | 6.00 ~ 1058 100.00 | =nst | 6.00 ~ 2500 3.00 15.16
4 100kN/mi%E#82%5 | 1.00|0.00 ~ 329 152.71 |3mZE#BZ 5| 000 ~ 025)] 313 15.81 | 100kN/miZ#825 | 1.00 | 1054 ~ 3223\ 152.71 |3m&E#BZB| 25,00 ~ 3223| 313 15.81
s 1.00 | 329 ~ 1107 100.00 | #nst | 0.25 ~ 1107 3.00 16.16 st 1.00 | 6.00 ~ 1054 100.00 | =nst | 6.00 ~ 2500 3.00 15.16
5 100kN/m%E#Bz5| 1.00 | 000 ~ 323| 151.65 |3m&EBZ3| 000 ~ 023|312 15.76 | 100kN/miZ#825 | 1.00 | 1055 ~ 31.39| 151.65 |3m&E#BZ5B| 25,00 ~ 31.39| 312 15.76
s 1.00 | 323 ~ 1L01 100.00 | #nlst | 0.28 ~ 1101 3.00 16.16 st 1.00 | 6.00 ~ 1055 100.00 | =nst | 6.00 ~ 2500 3.00 15.16
P 100kN/m%E#8z5| 1.00 | 000 ~ 337| 154.06 |3mE#BZ5| 0.00 ~ 0.37| 3.20 16.16 | 100kN/miZ#825 | 1.00 | 1054 ~ 31.35| 154.06 |3mERBZB| 25,00 ~ 31.35| 3.20 16.16
s 1.00 | 337 ~ 1115 100.00 | NS | 0.37 ~ 1115]| 3.00 16.16 st 1.00 | 6.00 ~ 1054 100.00 | =nst | 6.00 ~ 2500 3.00 15.16
- 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEFBZD -~
s 1.00 | 0.00 ~ 6.56 8276 | #nS | 0.00 ~ 6.56 | 1.90 961 st 1.00 | 6.00 ~ 824 82.76 | =nS | 5,00 ~ 824 | 1.90 9.61
P 100kN/m%#8%% | 1.00 | 000 ~ 047 106.91 |3m%EBZ% -~ - - -] 100kN/ %825 | 1.00 | 1057 ~ 11.84| 106.91 |3m%EiBZ% -~
s 1.00 | 047 ~ 825 100.00 | #nlst | 0.00 ~ 825|223 11.27 st 1.00 | 6.00 ~ 1057 100.00 | =hst | 6.00 ~ 1184| 2.23 11.27
9 100kN/m##82% | 1.00 000 ~ 1.21 11830 |3m%Ei#BZ 5D -~ - - -] 100kN/ %825 | 1.00 | 11.77 ~ 17.51 118.30 |3mZE#EZ 5 -~
s 1.00 | 1.21 ~ 9.00 100.00 | =nst | 0oo ~ 9.00| 215 10.87 st 1.00 | 6.00 ~ 1177 100.00 | =nst | 6.00 ~ 1751|215 10.87
10 100kN/m##8%% | 1.00 | 000 ~ 045| 106.60 |3m%EBZ% -~ - - -] 100kN/mZ#8z% | 1.00 | 11.87 ~ 1360| 106.60 |3mZE#BZ5 -~
s 1.00 | 045 ~ 823 100.00 | =St | 000 ~ 823 1.97 9.97 st 1.00 | 6.00 ~ 1187 100.00 | =nhst | 6.00 ~ 1360| 1.97 9.97
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
zhLst ~ Fhst ~ FhLst ~ st ~




